

الف) $\log_x^{p(x)} > 0 \Rightarrow \log_x^{p(x)} > 1 \Rightarrow x > \frac{1}{p} \Rightarrow x > \frac{1}{p}$ $\log_x^{p(x)} > 0 \Rightarrow \log_x^{p(x)} > 1 \Rightarrow x < \frac{1}{p} \Rightarrow x < \frac{1}{p}$ $\Rightarrow \frac{1}{p} < x < \frac{1}{p}$ $\log_x^{p(x)} > 0 \Rightarrow \log_x^{p(x)} > 1 \Rightarrow x > \frac{1}{p} \Rightarrow x > \frac{1}{p}$ $D = \left(\frac{1}{p}, \frac{1}{p} \right) \cup (1, +\infty)$ ب) $9 + \sqrt{ x } \cdot x > 0 \Rightarrow 9 + x > 0 \Rightarrow x > -9 \Rightarrow x > -9$ $9 < \sqrt{ x } < 9 \Rightarrow x < 9 \Rightarrow -9 < x < 9$	٦
$y = \sqrt{\frac{px^2 + ax + ab}{x+b}}$ $\Rightarrow x = -b$ $\frac{-b}{-1+}$ $-b = -1 \Rightarrow b = -1$	٧
$f(x) \cdot x - 1 > 0 \Rightarrow f(x) > \frac{1}{x}$ $f(x) = \begin{cases} x-1 & x \geq 0 \\ x+1 & x < 0 \end{cases}$ $x-1 > \frac{1}{x} \Rightarrow x^2 - x - 1 > 0 \Rightarrow x > \frac{1+\sqrt{5}}{2}$ $x+1 > \frac{1}{x} \Rightarrow x^2 + x - 1 > 0 \Rightarrow x < \frac{-1-\sqrt{5}}{2}$ $D = \left[\frac{-1-\sqrt{5}}{2}, +\infty \right)$	٨
$y = \frac{p(12x^2 + 12x^2 + 9x + 1)}{(12x^2 + 1)^p} = \frac{p(12x^2 + 1)^p}{(12x^2 + 1)^p} = \frac{p}{12x^2 + 1}$ $D_f \Rightarrow 12x^2 + 1 \neq 0 \Rightarrow 12x^2 \neq -1 \Rightarrow x \neq \pm \frac{1}{\sqrt{12}} \Rightarrow D = \mathbb{R} \setminus \left\{ \pm \frac{1}{\sqrt{12}} \right\}$	٩
$1 - \log_x^{p(x-a)} > 0 \Rightarrow \log_x^{p(x-a)} < 1 \Rightarrow x-a < 1 \Rightarrow x < 1+a \Rightarrow x < \frac{1+a}{p}$ $x-a > 0 \Rightarrow x > a \Rightarrow x > \frac{a}{p}$ $b = \frac{a}{p}$ $c = \frac{1+a}{p}$ $c-b = \frac{1+a}{p} - \frac{a}{p} = \frac{1}{p} = d$	١٠